

# United Independent School District AGENDA ACTION ITEM

TOPIC: Approval of I	Request(s) from Board	l Member(s) in re: U	Jse of Board of Trustees	S Discretionary
Funds for Various Proje	ects/Campuses			
SUBMITTED BY:	Judd Gilpin	OF: <u>Bo</u>	oard President	
APPROVED FOR TH	RANSMITTAL TO	) SCHOOL BOA	RD:	
DATE ASSIGNED FO	OR BOARD CON	SIDERATION: _	February 15, 2017	
RECOMMENDATION:				
It is recommended that the Un Trustees Discretionary Funds			rom Board Member(s) in re:	Use of Baord of
RATIONALE:				
BUDGETARY INFORMATION Budget Amendment as needed				
Dudget Amenument as necessar				
POLICY REFERENCE & CO	MPLIANCE:			





# United Independent School District Board of Trustees Discretionary Funds Request Form Fiscal Year 2016-2017

Requesting Campus: UNITED MIDDLE SCHOOL Principal: MRS. REBECCA MORALES Board Member: RICARDO MOLINA Board Member: Description of Request: TRAFFIC CONES FOR CAMPUS Estimated Cost of Request \$1,600.00 Principal or Director Signature Associate Superintendent Approval: Yes\_ Date Associate Superintendent Signature: \_ Superintendent Approvai: Superintendent Signature: Board Member Approval: Date Board Member Signature: No\_ Board Member Approval: \_ Date\_\_ Board Member Signature:\_ No\_\_\_\_\_Date Approved: \_\_\_\_\_\_\_Please return the completed form to Board Approval: Yes\_ the Superintendent's Office for final processing.

Exhibit A



# United Independent School District Board of Trustees Discretionary Funds Request Form Fiscal Year 2016-2017

Requesting Campus: Lamar Bruni-Vergara Middle School	
Campus Principal: Ms. Clare Flores	
Board Member: Ramiro Veliz	
Board Members PBIS Student/Teacher Incentives	the state of the s
Description of Request: PBIS Student/Teacher Incentives	- Company of the Comp
Estimated Cost of Request: \$1,500.00	
1 1 Als	Date: 1-27-2017
Principal or Director Signature: ULW DY	Date
ASSOCIATE SUPERINTENDENT APPROVAL: Yes No	·
Signature:	Date:
SUPERINTENDENT APPROVAL: Yes No.	<del></del>
Signature:	. Dates
BOARD MEMBER APPROVAL: Y68_ NO	<del></del>
Signature: Kamers Veley III but phonos	Date:
	AND
BOARD MEMBER APPROVAL: Yes No	<del>**</del>
Signaturer	Dates

BOARD APPROVAL DATE:



# United Independent School District Board of Trustees Discretionary Funds Request Form Fiscal Year 2016-2017

Requesting Campus:	Federal Programs – VITA Program (Volunteer Incom	me Tax Assistance)
Campus Principal:	Nancy Newsome, Migrant Coordinator	
Board Member:	Javier Montemayor, Judd Gilpin, Ricardo Molina, A	liza Flores-Oliveros,
Board Member: Jus	an Roberto Ramirez, Ramiro Veliz	
Description of Reques	t: Funds will be used to provide meals for the high se	chool students preparing
free tax returns		
		-
Estimated Cost of Req	juest: \$3,000.00 (\$ 500.00 each board m	ember)
Principal or Director S	Signature:	Date:
ASSOCIATE SUPERI	INTENDENT APPROVAL: Yes No	
Signature:		Date:
SUPERINTENDENT	APPROVAL: Yes No	
Signature:		Date:
Üleza Floores BOARD MEMBER A	Obieros by alalinae X PPROVAL: Yes X No _	2/2/17 — Date: 2/2/12
Signature:	vien Montemayor by a belinar	Date: 2/2/19
KamisoVel BOARD MEMBER A	PPROVAL: Yes X No _	2/2/17
Signature:	Ricardo Molina by alalinas	Date: 2/2/17
Judd belp	en by a salmer X	2/2/17
•	POADD ADDDOVAL DATE:	

Exhibit A



# United Independent School District Board of Trustees Discretionary Funds Request Form Fiscal Year 2016-2017

FOR CHILDREN Requesting Campus:	Newn	nan Elemen	tary	•
Campus Principal:	Letic	ia R. Garcia	————— Эì	
Board Member:		F. Oliveros		<del></del>
		•	···········	
Board Member:  Description of Request:	Purchase classroom print	ers/ink and outo	loor benches for	front of school.
Description of Request.			<u>·</u> <u>·</u>	·
Estimated Cost of Request:	\$4,300.00			4
Principal or Director Signat	ure: <u>Letina</u> K	Bareir	<u>)                                    </u>	Date: 2/08/17
ASSOCIATE SUPERINTE	NDENT APPROVAL:	Yes	No	
Signature:		· ·		Date:
SUPERINTENDENT APPR	OVAL:	Yes	No	****
Signature:				Date:
BOARD MEMBER APPRO	OVAL:	Yes	No	
Signature:				Date:
BOARD MEMBER APPRO	OVAL:	Yes	No	
Signature:				Date:
				••••

BOARD APPROVAL DATE:



## **UNITED INDEPENDENT SCHOOL DISTRICT**

PURCHASE REQUISITION

Page \_1 to \_1

·											VENDOR N	IAME AND ADI	DRESS
Fund/YI	R Fund	Org	Prog. Code		Proj. Num	Obj.	Sub Object	Amount			hoose vendor	-	/n list>
					Ĺ	<u> </u>			GTS	TEC	HNOLOGY SC	LUTIONS	
									Phone				
		Budget	Code				Accour	nt Code	Campu Date		NEWMAN February 8, 2017	Rm#	
Approv	al Cod	<b>ə</b> :				Disc	ount:						
Qty		ltem			,		Desc	cription			Unit Price Per	Discounted Price Per	Extension Unit Total
				SHIPPING	AND H	IANDL	.ING					\$0.00	\$0.00
10		3412DN		CLASSRO	OM PRI	NTER					\$143.28	\$143.28 ———	\$1,432.80
10		3412DN		PRINTER	INK FO	R 412	2DN				\$53.20	\$53.20	<b>\$532.00</b>
	·-											\$0.00	\$0.00
												\$0.00	\$0.00
												\$0.00	\$0.00
		-										\$0.00	\$0.00
												\$0.00	\$0.00
												\$0.00	\$0.00
												\$0.00	\$0.00
												\$0.00	\$0.00
	-											\$0.00	\$0.00
												\$0.00	\$0.00
												\$0.00	\$0.00
				QUOTE C	T0004	887					·	\$0.00	\$0.00
					•	•	-	- "				\$0.00	\$0.00
		·		EMAIL TO	NICOL	E.AD	AMS@GTS	S-TS.COM				\$0.00	\$0.00
												\$0.00	\$0.00
Dispositi	on:	Check		Mail	Pi	ckUp_		Fax_				Total	\$1,964.80
Remarks		DEPT. D		QUOTE							Gran	d Total	\$1,964.80
Originate		GAR (RRINT)	1			12	8/17 rate /	-	Budget Coordinat	tor		Date	
Administ	<u>~~~</u>	<i>18./</i> / \	$\mathcal{E}^{\mathcal{U}}$	rus		<del></del>	78/17 Pate	-	Other	•		Date	



GTS Technology Solutions 9211 Waterford Centre Blvd Suite 202 Austin, TX, 78758 Phone: (512) 452-0651

## Quote

Quote #:

QT0004887

Date:

2/8/2017

Delivery Date:

3/10/2017

Expire Date: Customer ID:

TXUNTS21003

Sales Contact:

Ashley Ambroso

QUO	TE FOR:			SHIP TO:					
Unite	ed Independent School District			United Independent School District					
	CUSTOMER P.O. NO.	Т	ERMS			SALES REP			
	B412 Printer and Toner	Net	30 Days	Ben Horsey					
		SHIPP	ING TERMS			SHIP VIA			
			•		·.				
NO.	ITEM		CONTRACT	QTY.	NOM	PRICE	EXTENDED PRICE		
1	62444301: OKI B412dn - Printer -		DIR-TSO-3039	10.00	EACH	\$143.28	\$1,432.80		
	Duplex - LED - A4/Legal - 1200 x to 35 ppm - capacity: 350 sheets -								
	Gigabit LAN	200 2.0,	•						
2	45807101: OKI 3K ISO TONER FO	OR OKI MB	DIR-TSO-3039	10.00	EACH	\$53.20	\$532.00		
	472DNW								

For questions regarding this quote, please contact Ashley Ambroso at 512-681-6236,This quote is valid for 30	Total Weight (EACH):	0	Sales Total:	\$1,964.80
days unless otherwise noted.	Total Volume (EACH):	0	Freight & Misc.:	\$0.00
These prices do NOT include taxes, insurance, shipping, delivery, s material unless specifically listed above. All prices are subject to che availability.		or	Tax Total: Total (USD);	\$0.00 \$1,964.80



### UNITED INDEPENDENT SCHOOL DISTRICT

PURCHASE REQUISITION

Page 1 to 3

#### VENDOR NAME AND ADDRESS Prog. Local Proj. Sub Please Choose Vendor From Drop Down List ••• Fund/YR Func Code Option Num Obj. Object Amount SCHOOL OUTFITTERS Phone **Budget Code** Account Code NEWMAN Campus Rm# Date February 8, 2017 **Approval Code:** Discount: Unit Price Per Extension Discounted Qty Item Description Price Per Unit Total SHIPPING AND HANDLING \$328.44 1 \$328.44 \$328.44 6 PATIO BENCHES HEAVY DUTY NOR-NW123IG-D6 \$346.88 \$346.88 \$2,081.28 \$0.00 \$0.00 \$0.00 \$0.00 **QUOTE QUO1835959** \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 EMAIL TO: SHARON.WILSON@SCHOOLOUTFITTERS.COM \$0.00 PickUp \_\_\_ Disposition: Page Total \$2,409.72 \$2,409.72 **Grand Total** Remarks LETICIA R. GARCIA 2/8/17 (PRINT) **Budget Coordinator** Date neetuuk Other Administrator Signature Date

www.schooloutfitters.com • 3736 Regent Ave. • Cincinnati, Ohio 45212-3724

#### For assistance, please contact:

Sharon Wilson Phone: 866-619-3962

Fax: 866-619-3963

sharon.wilson@schooloutfitters.com

## Quote Summary

**Quote #: QUO1835959** Valid through: 03/02/2017

Bill to:

Newman Elem Diana Chavez 1300 Alta Vista Dr Laredo TX 78041-3345 USA

Phone: 1 (956) 473-3800 Fax: 1 (956) 473-3899 Email: <u>dichavez@unitedisd.org</u> Ship to:

Newman Elem Diana Chavez 1300 Alta Vista Dr Laredo TX 78041-3345 USA

Phone: 1 (956) 473-3800 Fax: 1 (956) 473-3899 Email: <u>dlchavez@unitedisd.org</u>

Item	SKU#	Description	Qty.	List	% Off	Price Per item (including options)	Total Price
1.	NOR-NW 123IG-D6	Heavy-Duty Park Bench w/ Back - Diamond Expanded Metal - Inground Mount (6' L)	. 6	\$516.66	33%	\$346.88	\$2,081.28
		Options: Thermoplastic Plank – Royal Blue Thermoplastic Plank (+ \$0.00)					

#### Estimated Delivery:

13 business days after order confirmation

Frame - Black Powder Coat Frame (+ \$0.00)

#### Shipping & Handling Breakdown

Product SubTotal:

\$2,081.28

Items Shipping From:

Shipping Via:

Service(s) Included:

Shipping & Handling:

\$328.44

Norwood Commercial Furniture

ABF FREIGHT SYSTEM

Sales Tax:

\$0.00

Grand Total:

\$2,409.72

#### Important Shipping Information

Shipping is tail gate, requiring customer to unload from truck. Lift gate and inside delivery are available for additional charges.

Please remember to inspect your order at the time of delivery. Do not throw away any of the original packaging until inspection is completed. Any missing parts or damages must be reported to customer service at 1-866-619-1776 within 5 business days of delivery.

All quotations are for tailgate delivery, F.O.B. factory, unless otherwise noted.

#### Inventory/Pricing Information

All quoted prices are based on exact quantities and current inventory levels. Pricing subject to change in the event of altered quantities. This quote is valid through 03/02/2017.

Thank you for the opportunity to earn your business.

For Assistance: Sharon Wilson • Phone: 866-619-3962 • Fax: 866-619-3963 • sharon.wilson@schooloutfitters.com

For assistance, please contact:

Sharon Wilson ne: 866-619-3962

Phone: 866-619-3962 Fax: 866-619-3963

sharon.wilson@schooloutfitters.com

www.schooloutfitters.com • 1-800-260-2776 • 3736 Regent Ave. • Cincinnati, Ohio 45212-3724

## **Item Details**



Norwood Commercial Furniture

# Heavy-Duty Park Bench w/ Back - Diamond Expanded Metal - Inground Mount (6' L)

Use Norwood Commercial Furniture's Heavy-Duty Park Bench with Back in your high-traffic outdoor areas; it's made of steel, so it stands up to heavy use. The frame features a powder coat finish that won't scratch or fade, and the seat and back have a heavy-duty thermoplastic finish that resists UV rays and vandalism. Both the frame and bench come in a big selection of colors sure to stay bright and attractive for years.

#### **Specifications**

Material:	Steel; 12-gauge frame
Weight Capacity:	600 lbs.
Seating Capacity:	3
Bench Finish:	Thermoplastic
Frame Finish:	Powder coat
Warranty:	5 years
Other Info:	Diamond expanded metal
Mount:	Inground
Seat Height:	18"
Seat Depth:	10"
Length:	6'
Depth:	24"
Height:	24"
Assembly:	Assembly required

#### Options

1411	ne Color:
	Black Powder Coat Frame
	Brown Powder Coat Frame
	Green Powder Coat Frame
	Red Powder Coat Frame
	Royal Blue Powder Coat Frame
	Ultra Blue (Navy) Powder Coat Frame
her	moplestic Plank Color:
her	moplastic Plank Color:
her	Black Thermoplastic Plank
her	•
her	Black Thermoplastic Plank
her	Black Thermoplastic Plank Brown Thermoplastic Plank
her	Black Thermoplastic Plank Brown Thermoplastic Plank Green Thermoplastic Plank

ltem	SKU#	Description	Qty.	List	% Off	Price Per Item (including options)	Total Price
1.	NOR-NW123IG-D6	Heavy-Duty Park Bench w/ Back - Diamond	6	\$516.66	33%	\$346.88	\$2,081.28

#### Options:

Thermoplastic Plank - Royal Blue Thermoplastic Plank

(+ \$0.00)

Frame - Black Powder Coat Frame (+ \$0.00)



Exhibit A

### United Independent School District Board of Trustees Discretionary Funds Request Form Fiscal Year 2016-2017

Requesting Campus:	United Hig	h School	<u></u>		en e
Campus Principal:	Alberto Ale	man	<u></u>		<del></del>
Board Member:	Jav	ier Montemayo	r, Jr.		<del></del> .
Board Member:	<u> </u>				
Description of Reques	t <u>Trophies an</u>	d medals for F	Region VII Scholas	tic Chess To	ımament
Estimated Cost of Rec	juest\$92	27.00	an a sangi a a a		Angel Degre
Principal or Director	Signature:	llu TU	MGA Date_	2/9/17	W <sub>2</sub>
Associate Superintend	ient Approval:	Yes	No		ert i e
Associate Superintend	lent Signature:		Date_		
Superintendent Appr	oval:	Yes	No		
Superintendent Signa	ture:				<i>(</i> "
Board Member Appr	oval:	Yes	No	Salue	N
Board Member Signa	ture: <u>                                     </u>	Monten Yes	No Dy Date	2/10/1	7
Board Member Signa	ture:		Date		
Board Member Appr	oval:	Yes	No		
Board Member Signa	ture:		Date		
Board Approval:	Yes	No	Date Approve	d:	
Please return the comm	leted form to the	Superintendent	s Office for final proc	essing.	



# UNITED INDEPENDENT SCHOOL DISTRICT PURCHASE REQUISITION

Page 1 of 2

## · Vendor Name and Address

	A 91 A OHIORS	•							KEM	SPOR	
,	•								0014	<u>. کا بالات</u> 14 مطورہ ک	
PUNDAR	FUNG.	080.	COOS MCCCOM	OPTION	PHOLEST NUMBER	08JECT	OBJECT	ANSOUNT	1 -1-0	-12.4.	454L (A
									2002 (	717)8	<u>s 786</u>
									956	(11)6	167
		1							Phone No.	ited 1	224
	<del></del>	BUDGET CO		1		ACCOL	INT CODE	L	1	1/10	Hin Gara
•					ı				Date: 2/4	11	<del></del>
QTY		(Tem#					DESCRIP	ŤION		UNITED PRICE WITH DISCOUNT	extension
<u>.</u>		•	1	2		500	4.70	<del>~ .</del>	1- 10		
<u> </u>	┼—		-+	<u> </u>	P (	LLL	. 14	we his	9 12	(0.00	40.00
4_	<u> </u>			<b>→</b> ~	T & s	we	2	resplic	es II"	9.00	36.00
<u> </u>				<u>3~~</u>	PL	<u> </u>	1.	reh	ics 10"	8.00	32,00
4	<u>.</u>			411	- P1	acc	- 7	nooh	ives 9"	7.00	28.00
4				511	_P	lac	e -	Tno.	phies 8"	6.40	24.00
,2				Mes	lals	4/	c, pr	on -	exted Soc.	4.00	128.00
<u>1</u>				15+	PI.	LLE	-	Cd gan	24"	20.00	80.00
Ч_			,	m	2 8	lac	معر	Tean	~ 22"	44.00	72.61
4			-	3-1	L P	lac	<u>.</u>	74	m 20"	16.00	L4.0
4				reti	~ #	lac	·	Tean	m 18"	14.00	56.00
4	Ì			5X	v f	سما ح	ce.	Tea	m 16"	12.00	48.00
1				15+	0	un	rset	-L	1110	9.00	9 80
Ĺ				ميد	P	lae-	e Dy	en r	eted 10"	8.00	8.00
<u> </u>	<u> </u>			3+0		her			eted 9"	7.00	7.80
1	1_			41h	<u> P</u>	lace	×0 =	m a	etal 8"	6.00	6.00
1				54	F	* lac	د ۵	yen	roted7"	5 00	5.00
SPO:	SITION		Pick-up	Mail	C	eck [	] Fax #	<u> </u>		PAGE TOTAL	643.0
MARK	C AT	<sub>IN:</sub> 20	3/00	n 7	Ch	4-55	7.	um	ment	GRAND TOTAL	643.
				MAG	DAYE	-71	9/17	/	UDGET COORDINATO		DATE
POINT	UKETN	ואגייי	とメイン	6 VON	イング	. 17	2/6/	`^ '	COSE COUNTRY (C)	7	DATE



# UNITED INDEPENDENT SCHOOL DISTRICT PURCHASE REQUISITION

Page  $\frac{9}{2}$  of  $\frac{2}{2}$ 

## Vendor Name and Address

	٠								F	4	m	.SP	0P:	7.5
PUNDVA	RUNG.	ORQ.	PROGRAM GODE	LOCAL	PROJECT NUMBER	OBJECT	Bub, Object	TAYONA		<del>)</del> 41	8	Sun		rsula
				T .		<u> </u>				00	e d	<u>ر ما</u>	lex	as 780
		<del> </del>				<u> </u>	<u> </u>		5	<u>.C.</u>	• 7	17.	<u>*7 (</u>	67
			•				<del> </del>			Phone N	· -			
· 			<u></u>	L	<del></del>					•	Y.	1. te	<u> </u>	H4986-
•	E	NOGET CO	UNE			ACCION	NT CODE	٠.,	Į	Cate:	<b>&gt;</b> /	4/1	7	<u> </u>
													INITEO	
QTY		TEM®			_	ا	de <u>s</u> crii	YION					CE WITH SCOUNT	EXTENSION
4	İ		1.	/ o ~				~ ~~		•				
<del>Ч</del>	<del> </del>			15+				11			<del>.</del>		, 60	36.00
	<del> </del>	-		2				Ļo					. <b>59</b>	32.00
<u>પ્</u>	╁		i	<u>ر ۽ 3</u>	_		_	<del></del>	11		<del></del>	<del></del>	.00	28.00
12	<u> </u>			441	<u> </u>	laz	بعد ا	- 114	ا جا	Med	<u>la 1s</u>	ः प	.60	128.00
·				pe	<u> </u>	<u> </u>	-	<u>z(</u>	5	4×8	<u>ک</u>			
	]									· .	•	Ш.		
2	<u> </u>			عد.	Rest	c f	246	V†PW.	<u> </u>			5	. <i>0</i> -0	60.00
				<b>1</b>	- 0	ı							<b>.</b>	
					•	7			-					
						-							<del></del>	
	1.					<del></del>		<del></del>					••	
								<del>*************************************</del>			-	<del></del>	•••	
	+			······································							<del></del>	<del> </del>		<del> </del>
	<del> </del>	<u>.                                    </u>					· · ·					+		<del> </del>
	+		-	<del></del>	<del></del> -			······································				-		
	<del> </del>		-			· · · · · · · · · · · · · · · · · · ·		· · · ·		~~~				
10000	ITION:	<u> </u>	lak us	Mall	<u> </u>	eck [	] Fax#	<del>.  </del>		<del></del>			w -4	0.64
ner oc	HUNG.	<u> </u>	ICK-UD	- Lindik		eck L	] LGW &			<del></del>			E TOTAL D TOTAL	934.00
EMARK	<u> </u>	N:		7 A			1				<b></b>		- 17-17-14	
RIGINAT	<b>3</b>		1//	· ep	DAYE .	- 1/4	1/2	_	BUDGI	T COOR	DINATO	R	<del> </del>	DATE
DMINIST	RATIOR	SIGNATI	JRE	July .	DATE (	t V	(	_	OTHER	₹	<del>.</del> .			DATE



## **ESTIMATE**

K & M Sports 2918 Santa Ursula Ave Ste. C Laredo, TX 78040 United States

(956)717-8767

**BILL TO** UHS

Estimate Number: e-87

Estimate Date: December 5, 2016

Expires On: December 5, 2016

Grand Total (USD): \$927.00

Product	Quantity	Price	Amount
TROPHIES Rated Section Individual 1st Place Trophy 12 inches tall with orange	4	\$10.00	\$40.00
column and logo insert			
TROPHIES	4	\$9.00	\$36.00
Rated Section Individual 2nd Place Trophy 11 inches tall with orange column and logo insert			
TROPHIES	4	\$8.00	\$32.00
Raled Section Individual 3rd Place Trophy 10 inches tall with orange column and logo insert			
TROPHIES	4	\$7.00	\$28.00
Rated Section Individual 4th Place Trophy 9 inches tall with orange column and logo insert			
TROPHIES	4	\$6.00	\$24.00
Rated Section Individual 5th Place Trophy 8 inches tall with orange column and logo insert			
MEDAL	32	\$4.00	\$128.00
6th-13th individual medal with orange ribbon and logo insert for 4 rated sections			
TROPHIES	4	\$20.00	\$80.00
Rated section team 1st place trophy 2 column orange 24 inches tall			
TROPHIES	4	\$18.00	\$72.00
Rated section team 2nd place trophy 2 column orange 22 inches tall	•		
TROPHIES	4	\$16.00	\$64.00
Rated section team 3rd place trophy 2 column orange 20 inches tall			

Product	Quantity	Price	Amount	
TROPHIES Rated section team 4th place trophy 2 column orange 18 inches tall	4	\$14.00 ·	\$66.00	:
TROPHIES Rated section team 5th place trophy 2 column orange 16 inches tall	4	\$12.00	\$48.00	
TROPHIES  Open rated section 1st place individual trophy with orange column and logo insert 11 inches tall	1	\$9.00	\$9.00	
TROPHIES  Open rated section 2nd place individual trophy with orange column and logo insert 10 inches tall	i	\$8.00	\$8.00	
TROPHIES  Open rated section 3rd place individual trophy with orange column and logo insert 9 inches tall	1	\$7.00	\$7.00	
TROPHIES  Open rated section 4th place individual trophy with orange column and togo insert 8 inches tell	1	\$6.00	\$6.00	
TROPHIES  Open rated section 5th place individual trophy with orange column	1	\$5.00	\$5.00	
TROPHIES  Non rated section 1st place individual trophy with orange column and	4	\$9,00	\$36.00	
TROPHIES  Non rated section 2nd place individual trophy with orange column and	4	\$8.00	\$32.00	
TROPHIES  Non rated section 3rd place individual trophy with orange column and	4	\$7.00	\$28.00	
MEDAL  Non rated section 4th-11th place individual medal with orange column and logo insert	32	\$4.00	\$128.00	
NAME PLATES Remove and change name plates and figures	12	\$5.00	\$60.00	
ሃያ የመያወር ያልተዋፈት መጀመሪ ነው	والمستد المستد المستد والمستد المستد	Total:	\$927.00	NA.PONE
	·	Barris T. L. L. H. A. D.	THE PARTY OF THE P	

Grand Total (USD):

\$927.00



## INVOICE

K & M Sports 2916 Santa Ursula Ave Ste. C Laredo, Texas 78040 United States

(956)717-8767

BILL TO UHS

Invoice Number: 462

Invoice Date: January 25, 2017

Payment Due: January 25, 2017

Ambunt due (USD): \$927.00

		•	
Product	Quantity	Price	Amount
TROPHIES Rated section individual 1st place trophy 12 inches tall with orange column and logo insert	4	\$10.00	\$40.00
TROPHIES Rated section individual 2nd place trophy 11 inches tall with orange column and logo insert	4	\$9.00	\$36.00
TROPHIES Rated section individual 3rd place trophy 10 inches tall with orange column and logo insert	4	\$6.00	\$32.00
TROPHIES Rated section individual 4th place trophy 9 inches tall with orange column and logo insert	4	\$7.00	\$28.00
TROPHIES Rated section individual 5th place trophy 8 inches tall with orange column and logo insert	4	\$6.00	\$24.00
MEDAL 6th-13th individual medal with orange ribbon and logo insert for 4 rated section	32	\$4.00	\$128.00
TROPHIES Rated section team 1st place trophy 2 column orange 24 inches tall	4	\$20.0D	\$80.00
TROPHIES Rated section team 2nd place trophy 2 column orange 22 inches tall	. 4	\$18.00	\$72.00
TROPHIES Rated section team 3rd place trophy 2 column orange 20 inches tall	4	\$16.00	\$64.00



## **INVOICE**

K & M Sports 2916 Santa Ursula Ave Ste. Ç Laredo, Texas 78040 United States

(956)717-8767

Product	Quantity	Price	Amount
TROPHIES Rated section team 4th place trophy 2 column orange 18 inches tall	4	\$14.00	\$56.00
TROPHIES Rated section team 5th place trophy 2 column orange 16 inches tall	4 .	\$12.00	\$48.00
TROPHIES  Open rated section1st place individual trophy with orange column and logo insert 11 inches tall	1	\$9.00	\$9.00
TROPHIES Open rated section 2nd place individual trophy with orange column and logo insert 10 inches tall	1	\$8.00	\$8.00
TROPHIES  Open rated section 3rd place individual trophy with orange column and logo insert 9 inches tall:	1	\$7.00	\$7,00
TROPHIES  Open-rated section 4th place individual trophy with crange column and logo insert 8 inches tall	1	\$6.00	\$6.00
TROPHIES  Open rated section 5th place individual logo with orange column and logo insert 7 inches tall	1	\$5.00	\$5.00
TROPHIES  Non rated 1st place individual trophy with orange column and logo insert 11 inches tall (Primary, Elementary, Middle School and High School)	4	\$9.00	\$36.00
TROPHIES  Non rated 2nd place individual trophy with orange column and logo insert 10 inches tall (Primary, Elementary, Middle School and High School)	. 4	\$8.00	\$32.00
TROPHIES  Non rated 3rd place individual trophy with orange column and logo insert 9 inches tall (Primary, Elementary, Middle School and High School)	4	, \$7.00	\$28.00



## INVOICE

K & M Sports 2918 Santa Ursula Ave Ste. C Laredo, Texas 78040 United States

(956)717-8767

	t contract the contract of the	
Quantity	Price	Amount
32 ith lago insert	\$4.00	\$128.00
y, Middle		
12	\$5.00	\$60.00
· · · · · · · · · · · · · · · · · · ·	<b>*</b>	
たまいろう しかこうかいしょう くっかい プイン・メディッグ アップス・ディー アップス・ディング かんしょう かんしょう しゅうかい しょうかい しょうかい アンプラング アンプラング アンプラング アンプラング アンプラング アンプラング アングラング アンプラング アングラング アング アングラング アング アングラング アングラング アング アング アング アング アング アング アング アング アング ア	以水水、胃温、√市が水平へ下は放金型、以省グメイド((19 <u>年8年 1977</u> 1972 1974 1974 1974 1975 1974 1974 1974 1975	Carl Date To Collection of the service of the servi
•	Total:	\$927.00
eby:	ウローラスの「なっちゃくなった」は、これで、アントラスをある。	CAPERUN POLICIES PER LES PER LIVERS
A	mount Due (USD):	\$927.00
	32 ith logo insert y, Middle  12	32 \$4.00 ith logo insert y, Middle

Notes
Hosted by United High School
Ms. Gutierrez
January 30, 2015